== A
N = 0] &F AF S & AN A
20158 &= 20l A LEtSH E X 22t
25 EX 22t
HM: EXNYEH &R 2H
e EXNEEAIY XS (2 &HH)
- - _ L3
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
EXl2el 3,744,034 5,885,679 N2,141,645
= 2,442,530
&< 1,301,504
EXNEE A& 2H 3,653,434 5,795,079 N2,141,645
= 2,442,530
== 1,210,904
EXNEAIYE X & 120,850 131,922 A 11,072
EXNEHAY 4 16,850 16,850 0
201 et 9| 14,000 14,000 0
01 AF 2t 2| H| 11,000 11,000 0
OXNEMEAIRKS S22 S 11,000
02 Z2=2=24%4| 3,000 3,000 0
OX&EZH| |Xdl 3,000
203 €2 F=&d| 2,850 2,850 0
03 Al ZH =X 2= XIH| 2,850 2,850 0]
OEX &g 2,850
SESHAAP 2CAIAE S22 4,000 0 4,000
201 gBt2A | 4,000 0 4,000
02 =224 H| 4,000 0 4,000
OBSH AR 2elAlAE S22 4,000
HEX SAXIF ZelAAE RS 100,000 0 100,000
207 A I | 100,000 0 100,000
02 & AHJH EHH| 100,000 0 100,000
HZEX SAIXIOF 22AAE 2= 100,000
DMSAO XEMY RS 294,855 186, 139 108,716
= 59,030
= 235,825
NESS M A T H &M 2HA 16,000 16,000 0
101 2121 H] 16,000 16,000 0
04 JI2ZtHIZ22NEE S 16,000 16,000 0
ONFESYSN & 0 My 2AA 16,000
HAEHAEX NSLHAEH] 129,825 116, 139 13,686
308 XX SHHSOIH 129,825 116, 139 13,686
01 IXHHINMNEEXTZ 129,825 116, 139 13,686
OYEHIEX =2 LHAH| 129,825
B SSHEH 2Hsy AHE 10,000 10,000 0
201 gBt2Ad| 10,000 10,000 0
01 AP 22| H| 10,000 10,000 0
OxB==48Y 29 HAF 10,000




SN EXRRD
M EXNYY HFE P

Sel: DAUZMO XHHY 7 (sl &2)
- - _ L3
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
Al HEP2AZ2E A A A 80,000 0 80,000
308 XX EHSOIA 80,000 0 80,000
01 AIKSHHEMNEX= 80,000 0 80,000
OAlZ #EP2HE2E AAH A 80,000
X =22 ALY 59,030 0 59,030
= 59,030
202 o4 | 4,564 0 4,564
= 4,564
01 2L Y| 4,564 0 4,564
OX&EZe| A e 4,564
= 4,564
308 XX SHAHSOIH 54,466 0 54,466
= 54,466
01 AIXSHMEMNEXZ 54,466 0 54,466
OX = 2el At 54,466
= 54,466
ESNMER DR H 20,000 33,000 A 13,000
SN EEE 220 MM E 20,000 0 20,000
201 B9 15,000 0 15,000
01 AP 22| H| 15,000 0 15,000
OfsndEzggEg 2201 i Mz 15,000
202 o4l 5,000 0 5,000
01 2L Hl 5,000 0 5,000
OFRsSNEEEE 220l MHASY 5,000
S24AEE D= 1,259,000 1,470,000 A 211,000
= 980,000
o 279,000
T =22 XStAIEES HAFIAIE K& 1,149,000 1,320,000 A 171,000
= 980,000
= 169,000
403 XX SRS K20 & 1,149,000 1,320,000 A 171,000
= 980,000
& 169,000
01 AXESHHIEE X 1,149,000 1,320,000 A 171,000
OE=Z 2 XotAIE2 & Atst 1,149,000
= 980,000
& 169,000
S248E g8 29 20,000 20,000 0
201 gEt24y| 18,000 18,000 0
01 AP 22| H| 18,000 18,000 0
OZ22tA88 U ZEAd AL S8 2Y 18,000




2N

EX2el

HH: EXNAN HTE PE
Sl BAFE YRS CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
202 o4dl 2,000 2,000 0
01 = LH o4 1l 2,000 2,000 0
O323E L IEAAL =52 29 (| 2,000
32U4EE sA2e 90,000 0 90,000
201 Let2d] 90,000 0 90,000
02 2324l 90,000 0 90,000
O3UEE &334 Ha 20,000
OXNJASAZEAAEY UL AHEI AR 22 70,000
S2YHFA DI RE 563,729 644,018 A 80,289
= 53,500
< 510,229
EZ2HFA MES EIAMY K 230,000 230,000 0
308 XX EHHSOIA 230,000 230,000 0
01 HIXNHHNBMNEES 230,000 230,000 0
OE2YZA MB35 =7 230,000
29 E2Y Y ASHS 2OHAY XA 121,000 147,000 226,000
= 21,000
< 100,000
403 MtXISHHE X201 E 121,000 147,000 A 26,000
= 21,000
< 100,000
01 X SHHA2E= 121,000 147,000 226,000
OZdczg 2e(HE L) 21,000
= 21,000
OZIET2Y ZHe|(SXA) 100,000
ERHEF=A BEE & EE35 68,330 140,000 AT1,670
= 20,500
< 47,830
201 L2l 68,330 140,000 AT1,670
= 20,500
= 47,830
01 At 22l 68,330 140,000 AT1,670
OkLzgd=a B 68,330
= 20,500
< 47,830
INFLAZFBANLE RS> & 29 9,496 7,912 1,584
403 A X EHHS =0l A 9,496 7,912 1,584
02 SO 2SI CHSHHEH AH B 9,496 7,912 1,584
O2NF2TFEAN2E RAES 4 29 9,496
SN EHSEH X AS 114,000 90,000 24,000
= 12,000
< 102,000

w




fAM: EXlZel
N EXHEY HEG R

¢el EHEFL Itﬁ—_rlﬁ (=& J)
(o
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
201 L2l 24,000 0 24,000
= 12,000
= 12,000
01 At 22l 24,000 0 24,000
O3NXE Hs AX 22 XA 24,000
= 12,000
< 12,000
308 XtXIEHHSOIA 90,000 90,000 0
01 HXNHHBHEELS 90,000 90,000 0
O2ItXE gse &K 90,000
EZ2HFA JIE2E Sl ALY 20,903 29,106 A 8,203
403 MHXHHSA=0l& 20,903 29,106 A 8,203
02 SJ|1 2SO0l CH &HCH & AF 2 HI 20,903 29,106 A 8,203
OE2g =4 D=k &3 AY 20,903
Oxg XNEZ= 1,395,000 3,330,000 A 1,935,000
= 1,350,000
< 45,000
N ETHEA ALS 1,395,000 3,330,000 A 1,935,000
= 1,350,000
< 45,000
201 LB-2E| 35,000 50,000 A 15,000
= 35,000
01 At 22l 35,000 50,000 A 15,000
OXI & TH = A 35,000
= 35,000
202 odl 8,000 10,000 A 2,000
= 8,000
01 = LH 4 1l 8,000 10,000 A 2,000
OXI & TH = A 8,000
= 8,000
308 XXM SO0 A 1,352,000 3,270,000 A 1,918,000
= 1,307,000
< 45,000
01 AXSHHBLEES 1,352,000 3,270,000 21,918,000
O X & T = A 1,352,000
= 1,307,000
= 45,000
MY ZH(EX 22| ) 90,600 90,600 0
Jl2Zl 90,600 90,600 0
JI23l 90,600 90,600 0
201 LBH2d| 43,200 43,200 0
01 At 2t 2l 43,200 43,200 0




D EXzel
DM 2IAH(EX 22 D)
Jl2&tl

SA - ZE-B(EN) - NRAY - B S il

OEXZeIRF=A 43,200

202 44l 43,200 43,200

01 = LH o4 1l 43,200 43,200
OEXNZeZRFA 43,200

203 R =&t 4,200 4,200

04 2SI LRI 4,200 4,200
4,200




